# K. Gopalsamy; Bikkar S. Lalli; Bing Gen Zhang Oscillation of odd order neutral differential equations

Czechoslovak Mathematical Journal, Vol. 42 (1992), No. 2, 313-323

Persistent URL: http://dml.cz/dmlcz/128330

# Terms of use:

© Institute of Mathematics AS CR, 1992

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

# OSCILLATION OF ODD ORDER NEUTRAL DIFFERENTIAL EQUATIONS

K. GOPALSAMY, Adelaide, B. S. LALLI, Saskatoon, and B. G. ZHANG, Qingdao

(Received December 18, 1990)

Summary. A necessary and sufficient condition for the oscillation of all solutions of

$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} \Big[ x(t) - cx(t-\tau) \Big] + p(t)x(\sigma(t)) = 0,$$

where n is odd integer is obtained. A new sufficient condition for the oscillation of all solutions is derived along with some comparison results.

AMS classification: 34K20

#### **1. INTRODUCTION**

Oscillation of higher order neutral differential equations of the type

(1.1) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} \left[ x(t) - cx(t-\tau) \right] + p(t)x(\sigma(t)) = 0, \quad t \ge t_0$$

have been recently considered by several authors (Ladas and Sficas [5,6]], Wang [8], Zahariev and Bainov [10] and Zhang and Gopalsamy [12]). The purpose of this article is to discuss the asymptotic behavior of (1.1) when n is an odd positive integer. We recall that a solution of (1.1) is said to be oscillatory if it has arbitrarily large zeros on  $[t_0, \infty)$  and (1.1) is said to be oscillatory if every solution his equation is oscillatory.

First we derive necessary and sufficient conditions in section 2 for the oscillation of all solutions of (1.1) and discuss certain comparison results in section 3. In section 4, we establish new results for the oscillations of all solutions of (1.1) We note that all inequalities are assumed to hold for all sufficiently large t.

#### 2. OSCILLATIONS

We begin with the following Lemma which describes the asymptotic behavior of nonoscillatory solutions of (1.1).

**Lemma 2.1.** Assume the following: (i) c and  $\tau$  are constants with  $0 \le c < 1$  and  $\tau > 0$ ; (ii)  $\sigma \in C(R_+, R)$ ,  $R_+ = [0, \infty)$ ,  $\lim_{t \to \infty} \sigma(t) = \infty$ ; (iii)  $p \in C(R_+, R_+)$  and  $\int_T^{\infty} p(s) ds = \infty$ ,  $T \ge t_0$ . If x(t) is an eventually positive solution of (1.1), then

(a) 
$$\lim_{t \to \infty} x(t) = 0$$

(b) 
$$(-1)^{i} Z^{(i)} > 0$$
 eventually and  

$$\lim_{t \to \infty} Z^{(i)}(t) = 0, \quad i = 0, 1, 2, ..., n - 1,$$

where

(2.1) 
$$Z(t) = x(t) - cx(t - \tau).$$

**Proof**. Let x(t) be an eventually positive solution of (1.1); then  $Z^{(n)} \leq 0$ . Since  $p(t) \neq 0$  we must have either

(2.2) 
$$\lim_{t \to \infty} Z^{(n-1)}(t) = -\infty$$

or

(2.3) 
$$\lim_{t \to \infty} Z^{(n-1)}(t) = \ell.$$

It is easy to see that in the case of (2.2) we have

(2.4) 
$$\lim_{t \to \infty} Z(t) = -\infty.$$

However, when c = 0, Z(t) = x(t) and so (2.4) is not possible. When 0 < c < 1, (2.4) implies that  $\lim_{t\to\infty} x(t) = 0$ ; consequently  $\lim_{t\to\infty} Z(t) = 0$  and thus (2.4) is again impossible. Let us then consider the only possible case namely (2.3). If  $\ell \neq 0$ , then (2.3) implies that either

(2.5) 
$$\lim_{t \to \infty} Z(t) = +\infty$$

or

(2.6) 
$$\lim_{t\to\infty} Z(t) = -\infty.$$

If (2.5) holds, then we obtain

(2.7) 
$$\lim_{t \to \infty} x(t) = +\infty$$

Now integrating both sides of (1.1) from T to  $\infty$  and using (2.3) we get

(2.8) 
$$\int_{T}^{\infty} p(s) x(\sigma(s)) \, \mathrm{d}s < \infty,$$

which together with (2.7) leads to

(2.9) 
$$\int_{T}^{\infty} p(s) \, \mathrm{d}s < \infty$$

providing a contradiction to the assumption (iii) of the Lemma. Therefore  $\ell = 0$  which implies that  $Z^{(n-1)} > 0$  and  $\lim_{t \to \infty} Z^{(n-1)}(t) = 0$ . It will follow from this that

$$(-1)^{i}Z^{(i)}(t) > 0, \quad i = 1, 2, \dots, (n-1),$$

and

$$\lim_{t \to \infty} Z^{(i)}(t) = 0, \quad i = 1, 2, \dots, (n-1).$$

In particular Z'(t) < 0. Hence

$$\lim_{t\to\infty}Z(t)=\ell_1.$$

As before we can show that  $\ell_1 < 0$  is impossible. If  $\ell_1 > 0$  for some  $T \ge t_0$  we will have

$$0 < \ell_1 < Z(t) < x(t), \text{ for } t \ge T.$$

This together with (2.8) leads to (2.9). Thus we must have  $\ell_1 = 0$ , and hence

$$\lim_{t \to \infty} Z(t) = \lim_{t \to \infty} [x(t) - cx(t - \tau)] = 0$$

from which one can derive using  $c \in [0, 1)$  that  $\lim_{t \to \infty} x(t) = 0$ . This completes the proof.

Theorem 2.2. Let the hypotheses of Lemma 2.1 hold; furthermore assume that

$$\sigma(t) \leqslant t \quad \text{when} \quad 0 < c < 1$$

and

$$\sigma(t) < t, \ p(t) > 0 \quad \text{when} \quad c = 0.$$

Then (1.1) is oscillatory if and only if the differential inequality

(2.10) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} \left[ x(t) - cx(t-\tau) \right] + p(t)x(\sigma(t)) \leqslant 0$$

has no eventually positive solution.

**Proof.** The sufficiency is obvious. To prove the necessity we let x(t) be an eventually positive solution of (2.10). We shall show that (1.1) has a nonoscillatory solution. As in the proof of Lemma 2.1, we have

$$\lim_{t \to \infty} Z^{(i)} = 0, \quad i = 0, 1, 2, \dots, (n-1) \quad \text{and} \quad \lim_{t \to \infty} x(t) = 0.$$

If x(t) > 0 for some  $T \ge t_0$  we let

$$T_0 = \inf_{t \gtrless T} \sigma(t) \leqslant T$$
, and  $T_1 = T + \max(T - T_0, \tau)$ .

There exists a  $T_2$  such that

$$x(T_2) = \min_{t \in [T,T_2]} x(t).$$

Integrating (2.10) *n*-times from t to  $\infty$  we have

$$x(t) \ge cx(t-\tau) + \int_{t}^{\infty} \frac{(s-t)^{(n-1)}}{(n-1)!} p(s) x(\sigma(s)) \,\mathrm{d}s, \quad t \ge T.$$

If 0 < c < 1 then we define

$$y_0(t) = x(t) \quad \text{for } t \ge T,$$
  

$$y_1(t) = \begin{cases} cy_0(t-\tau) + \int_{-t}^{\infty} \frac{(s-t)^{n-1}}{(n-1)!} p(s) y_0(\sigma(s)) \, \mathrm{d}s, \quad t \ge T_2, \\ y_1(T_2) + x(T) - x(T_2), \quad t \in [T, T_2]. \end{cases}$$

It follows that

$$0 < y_1(t) \leqslant y_0(t), \quad t \ge T.$$

In general we define

(2.11) 
$$y_{m+1}(t) = \begin{cases} cy_m(t-\tau) + \int_t^\infty \frac{(s-t)^{n-1}}{(n-1)!} p(s) y_m(\sigma(s)) \, \mathrm{d}s, & t \ge T_2, \\ y_{m+1}(T_2) + x(t) - x(T_2), & t \in [T, T_2]. \end{cases}$$

By induction it can be found that

$$0 < y_n(t) \leq y_{n-1}(t) \leq \ldots \leq y_0(t), \quad t \geq T.$$

From the fact that  $x(t) \ge cx(t-\tau)$  for  $t \ge T_1$  we can derive that

$$x(t) \geqslant \alpha e^{-\mu t},$$

where  $\alpha = x(T_1) \exp(\mu T_1) > 0$ ,  $\mu = (-\frac{1}{\tau}) \ln[c] > 0$ , and that

$$\alpha e^{-\mu t} \leqslant y_n(t) \leqslant y_{n-1}(t) \leqslant \ldots \leqslant y_0(t), \quad t \geqslant T_1.$$

By Lebesgue's convergence theorem it follows that the pointwise limit of  $\{y_n(t)\}$  exists as  $n \to \infty$ . Thus there exists a  $y^*$  such that

$$\lim_{t\to\infty}y_n(t)=y^*(t),\quad t\geqslant T_1.$$

From (2.11) we have

$$\alpha e^{-\mu t} \leq y^*(t) = cy^*(t-\tau) + \int_t^\infty \frac{s-t)^{n-1}}{(n-1)!} p(s) y^*(\sigma(s)) ds, \quad T \ge T_2,$$

which implies that  $y^*$  is a positive solution of (1.1). If c = 0, we define a sequence  $\{y_n\}$  as follows;

$$y_0(t) = x(t), \quad t \ge T,$$
  

$$y_{m+1}(t) = \begin{cases} \int_{t}^{\infty} \frac{(s-t)^{n-1}}{(n-1)!} p(s) y_m(\sigma(s)) \, \mathrm{d}s, \quad t \ge T_1, \\ t \\ y_{m+1}(T_1) + x(t) - x(T_1), \quad t \in [T, T_1]. \end{cases}$$

Proceeding as before we can prove that there exists a function  $y^*$  such that

$$\lim_{n \to \infty} y_n(t) = y^*(t), \quad t \ge T_1,$$

and

$$y^{*}(t) = \begin{cases} \int_{t}^{\infty} \frac{(s-t)^{n-1}}{(n-1)!} p(s) y^{*}(\sigma(s)) ds, & t \ge T_{1} \\ y^{*}(T_{1}) + x(t) - x(T_{1}), & t \in [T, T_{1}]. \end{cases}$$

From Lemma 2.1, x'(t) < 0 (in case c = 0) and hence

$$y^{*}(t) \ge x(t) - x(T_1) > 0$$
, for  $t \in [T, T_1]$ 

and it follows that  $y^*(t) > 0$  for all  $t \ge T_1$ . Therefore  $y^*$  is a positive solution of (1.1).

We wish to remark that the conclusion of Theorem 2.2 can be extended to equations with several delays of the form

(2.12) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} \left[ x(t) - cx(t-\tau) \right] + \sum_{i=1}^m p_i(t) x(\sigma_i(t)) = 0, \quad t \ge t_0.$$

## **3. COMPARISON RESULTS**

It is sometimes possible to conclude the oscillatory nature of one equation by comparing it with another suitable equation. We derive results of this type here.

Theorem 3.1. Assume that the hypotheses of Theorem 2.2 hold and that

 $0 < c \leq \overline{c} < 1$ ,  $q(t) \geq p(t) \geq 0$ .

Then the oscillation of (1.1) implies the oscillation of

(3.1) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} [x(t) - \bar{c}x(t-\tau)] + q(t)x(\sigma(t)) = 0.$$

**Proof.** Suppose that (1.1) is oscillatory and that (3.1) is not oscillatory: let x(t) be an eventually positive solution of (3.1). We set

$$Z(t) = x(t) - \tilde{c}x(t-\tau)$$

and obtain by Lemma 2.1

(3.2)  

$$\begin{aligned} x(t) &= \bar{c}x(t-\tau) + \int_{t}^{\infty} \frac{(s-t)^{n-1}}{(n-1)!} q(s) x(\sigma(s)) \, \mathrm{d}s \\ &\geqslant cx(t-\tau) + \int_{t}^{\infty} \frac{(s-t)^{n-1}}{(n-1)!} q(s) x(\sigma(s)) \, \mathrm{d}s. \end{aligned}$$

By Theorem 2.2, it now follows that (1.1) has a nonoscillatory solution which contradicts the assumption that (1.1) is oscillatory. This completes the proof  $\square$ 

E x a m p l e 3.1. Consider the odd order neutral equation

(3.3) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} [x(t) - cx(t-\tau)] + (p^n + q(t))x(t-n\sigma) = 0, \quad t \ge t_0,$$

where c,  $\tau$ ,  $\sigma$  and p are positive constants with 0 < c < 1 and  $q \in C(R_+, R_+)$ . If

(3.4) 
$$p e \sigma > (1-c)^{\frac{1}{n}},$$

then every solution of (3.3) is oscillatory. In fact, from a result to be proved below (see Theorem 4.2) and condition (3.4) it follows that (3.3) is oscillatory for the case  $q(t) \equiv 0$ . Thus the assertion regarding (3.3) follows from the comparison Theorem 3.1.

We proceed to establish a comparison result for delay differential equations of the form

(3.5) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n}x(t) + p(t)x(\tau(t)) = 0,$$

(3.6) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n}x(t) + q(t)x(\sigma(t)) = 0.$$

**Theorem 3.2.** Let the assumptions of Theorem 2.2 hold for (3.5). Furthermore, suppose that

(3.7) 
$$\sigma(t) \leq \tau(t) < t, \quad p(t) \leq q(t), \quad \text{for } t \geq T^* \geq t_0,$$

where  $T^*$  is possibly sufficiently large. Then the oscillation of (3.5) implies the oscillation of (3.6).

Proof. Suppose the contrary and let x(t) be an eventually positive solution of (3.6). Then by Lemma 2.1 we have x'(t) < 0 since c = 0. Hence

$$x(\tau(t)) \leqslant x(\sigma(t)) \quad \text{for } t \ge T \ge T^*.$$

Now

(3.8) 
$$\frac{\mathrm{d}^{n} x(t)}{\mathrm{d}t^{n}} + p(t)x(\tau(t)) = \frac{\mathrm{d}^{n} x(t)}{\mathrm{d}t^{n}} + q(t)x(\sigma(t)) + [p(t)x(\tau(t)) - q(t)x(\sigma(t))] = [p(t)x(\tau(t)) - q(t)x(\sigma(t))] \leqslant 0$$

which in view of Theorem 2.2 implies that (3.5) has a nonoscillatory solution. This contradiction proves the assertion of the Theorem.

For odd order neutral equations the type

$$(3.9)\frac{\mathrm{d}^n}{\mathrm{d}t^n}[x(t) - cx(t-\tau)] + p(t)x(\sigma(t)) + F(t, x(t), x(g_1(t)), \dots, x(g_m(t))) = 0,$$
  
$$t \ge t_0$$

the following is an immediate consequence of Theorem 2.2.

**Theorem 3.3.** Let the hypotheses of Theorem 2.2 hold. Furthermore let (i)  $F \in C(R_+ \times R^{m+1}, R)$ , and  $F(t, y_0, y_1, \ldots, y_m)y_0 > 0$  whenever  $y_0y_i > 0$ ,  $i = 1, 2, \ldots, m$ ;

(ii)  $g_i \in C(R_+, R)$ ,  $\lim_{t \to \infty} g_i(t) = \infty$ , i = 1, 2, ..., m. Then the oscillation of (1.1) implies that of (3.9).

Remark 3.1. In (3.9) the arguments  $g_i$  can be of delay type, advanced type or of mixed type. For example consider

(3.10) 
$$\frac{\mathrm{d}^{n}}{\mathrm{d}t^{n}} \left[ x(t) - px(t-\tau_{i}) \right] + \sum_{i=1}^{K} p_{i}x(t-\tau_{i}) + \sum_{j=1}^{L} q_{j}x(t-\sigma_{j}) = 0, \quad t \ge t_{0},$$

where  $0 and <math>q_j$  are positive constants, i = 1, 2, ..., K; j = 1, 2, ..., L and n is odd. Using Theorem 3.3 we can conclude that the oscillation of

(3.11) 
$$\frac{\mathrm{d}^{n}}{\mathrm{d}t^{n}} [x(t) - px(t-\tau)] + \sum_{i=1}^{K} p_{i}x(t-\tau_{i}) = 0,$$

implies that of (3.10).

**Theorem 3.4.** Assume that the hypotheses of Theorem 2.2 hold. Further assume that p(t) > 0 and  $\sigma(t) < t$ . Then the oscillation of (1.1) with c = 0 implies that of (1.1) with 0 < c < 1. The converse is false.

Proof. Suppose the contrary and let (1.1) with c = 0 be oscillatory and when 0 < c < 1, there is an eventually positive solution x(t) of (1.1). By Lemma 2.1 we know that Z(t) < x(t). Hence

(3.12) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n} Z(t) + p(t) Z(\sigma(t)) \leqslant 0,$$

which by Theorem 2.2 implies that

(3.13) 
$$\frac{\mathrm{d}^n}{\mathrm{d}t^n}y(t) + p(t)y(\sigma(t)) = 0$$

has a nonoscillatory solution, and this contradicts our assumption that (1.1) with c = 0 is oscillatory.

To establish the second part of our proof we consider

(3.14) 
$$\frac{d}{dt} \left[ x(t) - cx(t-\tau) \right] + x \left( t - \frac{1}{e} \right) = 0.$$

It is known that when c = 0, (3.14) has a nonoscillatory solution; however (3.14) is oscillatory for 0 < c < 1 (for details see [11]). The proof is complete.

## 4. Oscillations of (1.1)

In the following we are concerned with the investigation of oscillations of a special case of (1.1); that is we shall assume that  $\sigma(t) = t - \sigma^*$  where  $\sigma^*$  is a positive constant.

**Theorem 4.1.** In addition to the assumptions of Theorem 2.2, if

(4.1) 
$$\liminf_{t \to \infty} \int_{t-\sigma^*}^t p(s) \, (s-t)^{n-1} \mathrm{d}s > (1-c) \, (n-1)!,$$

then (1.1) is oscillatory.

**Proof**. Suppose that there exists an eventually positive solution x(t) of (1.1). Then

(4.2)  

$$Z^{(n)}(t) = -p(t)x(t - \sigma^{*})$$

$$= -p(t)Z(t - \sigma^{*}) - cp(t)x(t - \sigma^{*} - \tau)$$

$$= -p(t)Z(t - \sigma^{*}) - cp(t)Z(t - \sigma^{*} - \tau)$$

$$- c^{2}p(t)x(t - \sigma^{*} - 2\tau),$$

and so on. By Lemma 2.1, Z(t) < x(t), and Z'(t) < 0. Hence (4.2) implies that

(4.3) 
$$Z^{(n)}(t) \leqslant -p(t)Z(t-\sigma^*)[1+c+c^2+\ldots+c^m]$$

where m is an arbitrary large positive integer. From (4.1) it follows that we can choose an arbitrarily large positive integer m such that

(4.4) 
$$\limsup_{t \to \infty} \int_{t-\sigma^*}^t p(s) \, (s-t)^{n-1} \mathrm{d}s > \left(\frac{1-c}{1-c^m}\right) \left[(n-1)!\right].$$

In view of Lemma 2.1, for t > s we have

(4.5)  

$$Z(s - \sigma^{*}) = \frac{Z(t - \sigma^{*}) + Z'(t - \sigma^{*})(s - t) + \dots + Z^{(n-1)}(t - \sigma^{*})(s - t)^{n-1}}{(n-1)!}$$

$$+ \frac{Z^{(n)}(\xi - \sigma^{*})}{n!}(s - t)^{n}$$

$$\leqslant \frac{Z^{(n-1)}(t - \sigma^{*})}{(n-1)!}(s - t)^{n-1},$$

where  $\xi \in (s, t)$ . Substituting (4.5) in (4.3) where we first change t to s, one can derive that

(4.6) 
$$Z^{(n)}(s) \leqslant -\frac{1-c^m}{(1-c)[(n-1)!]}p(s)(s-t)^{n-1}Z^{(n-1)}(t-\sigma^*).$$

Integrating (4.6) from  $t - \sigma^*$  to t we get

$$Z^{(n-1)}(t) - Z^{(n-1)}(t - \sigma^* \leqslant -\left(\frac{1 - c^m}{(1 - c)(n - 1)!}\right) Z^{(n-1)}(t - \sigma^*) \int_{t - \sigma^*}^t p(s)(s - t)^{n-1} \mathrm{d}s.$$

That is

(4.7) 
$$Z^{(n-1)}(t) + Z^{(n-1)}(t - \sigma^*) \Big[ \frac{1 - c^m}{(1 - c)(n-1)!} \int_{t - \sigma^*}^t p(s)(s - t)^{n-1} \mathrm{d}s - 1 \Big] \leq 0.$$

By Lemma 2.1,  $Z^{(n-1)}(t)$  is eventually positive and therefore in view of (4.4), inequality (4.7) provides a contradiction. The proof is now complete.

For (1.1) with constant parameters we have the following result:

**Theorem 4.2.** If  $p(t) \equiv p > 0$ ,  $\sigma(t) = t - \sigma^*$ ,  $\sigma^* > 0$ , 0 < c < 1 and

(4.8) 
$$\left(\frac{p}{1-c}\right)^{\frac{1}{n}}\frac{\sigma^*}{n} > \frac{1}{e},$$

then (1.1) is oscillatory.

Proof. Since 0 < c < 1, it follows from (4.8) the there exists a sufficiently large integer m such that

(4.9) 
$$\left[\frac{p(1-c^m)}{1-c}\right]^{\frac{1}{n}} \frac{\sigma^*}{n} > \frac{1}{e}$$

Since (4.3) becomes

(4.10) 
$$Z^{(n)}(t) + p \frac{1 - c^m}{1 - c} Z(t - \sigma^*) \leqslant 0,$$

which implies that (4.10) has an eventually positive solution, we arrive at a contradiction to a known result (see [6], Lemma 3(ii)). This completes the proof.

Remark 4.1. The condition (4.8) improves the condition of Theorem 3 in [5] since the parameter of the neutral term appears in (4.8) whereas such parametes do not appear in the condition used in Theorem 3 in [5].

### References

- [11] L. H. Erbe and B. G. Zhang: Oscillation for first order linear differential equations with deviating arguments, Diff. and Int. Eqns. 1 (1988), 305-314.
- [2] K. Gopalsamy and B. G. Zhang: On a neutral delay logistic equation, Dynamics and stability of systems 2 (1988), 185-195.
- [3] J. K. Hale: Theory of functional differential equations, Springer Verlag, New York, 1977.
- [4] M. R. Kulenovic and M. K. Grammatikopoulos: Some comparison and oscillation results for first order differential equations and inequalities with deviating argument, J. Math. Anal. Appl. 131 (1988), 67-84.
- [5] G. Ladas and Y. G. Sficas: Oscillation of neutral delay differential equations, Canad. Math. Bull. 29 (1986), 438-445.
- [6] G. Ladas and Y. G. Sficas: Oscillation of higher order neutral equations, J. Austral. Math. Soc. Ser. B 27 (1986), 502-511.
- [7] I. P. Stavroulakis: Oscillation of mixed neutral equations, Iliroshima Math. J. 19 (1989), 441-456.
- [8] Z. Wang: A necessary and sufficient condition for the oscillation of higher order neutral equations, Tohoku Math. J. 41 (1989), 575-588.
- [9] J. Wei: Necessary and sufficient conditions for oscillations of first order difference differential equations and applications, Acta Math. Sinica 32 (1989), 632-638.
- [10] A. I. Zhariev and D. D. Bainov: On some oscillation criteria for a class of neutral type functional differential equations, J. Austral. Math. Soc. Ser. B (1986), 229-239.
- [11] B. G. Zhang: Oscillation of first order neutral functional differential equations, J. Math. Anal. Appl. 139 (1989), 311-318.
- [12] B. G. Zhang and K. Gopalsamy: Oscillation and nonoscillatin in higher order neutral equations, J. Math. and Phy. Sci. 25 (1991), 152-165.

Authors' addresses: K. Gopalsamy, School of Information Sci. and Tech., Flinders University, G. P. O. Box 2100, Adelaide S. A. 5001, Australia,

B. S. Lalli, Department of Mathematics, University of Saskatchewan, Saskatoon, Canada,

B. G. Zhang, Department of Mathematics, Ocean University of Shandong, Qingdao, China.